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Whole Numbers

Exercise 3
Show all your working for this exercise.

1. Copy the following and find the answers :-

(a) 468 (b) 678 © 499
+222 + 396 - 368
904 £ 8008 2345

e
©) - 717 ®) + 1764 ©) + 7656

(d)

(h)

+333

5004
- 4295

EEmnT]



Whole Numbers

(i) 4870+888  (j) 5432+3577 (k) 7941-5974 (I) 9009 -178
(a) Last season, the Tigers scored 4375 points and
the Panthers scored 2680 points.

(i) How many points were scored altogether ?

(ii) How many more points were scored
by the Tigers than the Panthers ?

This year she received a pay increase of £1360.

(k) a A secretary earned £7660 last year,
&

v’,}“ What is her salary this year #

() Jay has £2450. He gives Paul £360, Beth £660 and Andy £150.
Peter gives Jay £75.

@@
How much money does Jay have now ? ﬁ

Exercise 4 @ - I

L

Write down the answers to the following :- : E
(a) 45 x 10 (b) 22 x 10 (c) 1076 (d) 10 x 20
(e) 123 x 10 (f) 802 =10 (g9) 10 = 1200 (h) 10 = 1030

Write down the answers to the following :-
(a) 41 x 100 (b) 99 x 100 (c) 100 x 231 (d) 100 x 100

() 501 x 100 (f) 100 x 300 (g) 100x2020  (h) 5000 x 100

Write down the answers to these :-

(a) 23010 (b) 330 x 100 (€) 404 x 10 (d) 100 x 660
(€) 10 x 900 (f) 1000 x 100 (g) 1010 x 10 (h) 2000 x 100
A bottle holds 100 millilitres of medicine. i)

How many millilitres are there in :-

(a) 4 bottles (b) 30 bottles?

There are 10 millimetres in 1 centimetre.
How many millimetres are there in :-

(a) 5em (b) 40 cm (c) 101 em (d) 1000 cm ?



Whole Numbers

Write down the answers to the fulluwmg - E
(a) 330-10 (b) 560 <1 (c) 700+10 (d) 3000 =10
(e) 8000 =10 (f) B50O+10 (g) 10000+10  (h) 140500 = 10

2.  Write down the answers to the following :-
(a) 200+ 100 (b) 1600 = 100 (c) 8000:100  (d) 24 000 : 100
(e) 10000-100 (f) 20100-100  (g) 300000100 (h) 5000000 = 100

3. Write down the answers to these -
(a) 9000+100  (b) 2050 - 10 (c) 22000100 (d) 1100+ 10
(e) B700+100  (f) 10000 =10 (g) 1000+100  (h) 100+ 100

4,  There are 10 millimetres in 1 centimetre and 100 centimetres in 1 metre.
How many metres are equivalent to :-

(a) 50O cm (b) 80000 cm (c) (d) 100000 mm #

5. A bottle can hold 100 headache pills.
How many similar bottles are needed to hold :-

() 700 pills (b) 40000 pills ?

Exercise 6 | -

1.  Copy the following and complete the calculations :-

. 27 34 c 71 55
{ j x 3 {b} x 4 { } x 6 {d} x b
(e) 132 () 308 @ 367 M) 53

x 7 x B = 4 x 9

2. Rewrite each of these in the above form and complete the calculations :-
(a) 35x6 (b) 93 x5 (c) 8x43 (d) 78 =7
(e) 9 x 406 (f) 8x333 (g) 9231x9 (h) 4 x 4444

3.  Show all working :- (a) How many minutes are there in eight hours ?
(b) How many hours are in a week ?
() Find=- (i) 3x72x4 (i) 5x621x7



Whole Numbers

4,

(o) Buzz has 2 packs of trading cards. i =,
Each pack contains 136 cards.

How many cards does Buzz have ?
L
(b) Sadie can write 368 words (in shorthand)
in 4 minutes. At the same rate, how many

words can she write in one minute ?

Exercize 7 P

Copy the following and complete each calculation :-

(o) 7|63 ()] 5|?:35 (c) 8|440 (d) 9|B&ET1

Set the following down in the same way as above and complete each calculation :-

(a) 644 (b) 3782 (c) 824 -4 (d) 364:7

(e) 2664 =6 (f) 2875+:5 (g) azo4 (h) 7578
4 9
Show all your working in solving the following :-

(o) A box can hold 8 teddy bears.
How many boxes are needed for 248 teddies ?

(b) A spoonful of medicine holds 5 millilitres.

How many spoonfuls would you need for 275 millilitres ?

(c) Find the answer to:- (i) 3836=-4-=7
(i) 7x235-<5,

Find the remainder each time here :-

(a) 656 +8 (b) 2208=:6 (c) M ) i;ﬁ

A mini-bus can take 9 pupils at a time to the swimming pool.
There are 120 pupils to go to the pool.

(a) How many journeys will the bus need to make ?
(To the pool and back is counted as 1 journey).

(b) How many pupils will be on the bus on the last journey ?




Whole Numbers

L

Exercize 8 il
) %

Try to do the following mentally :- (use the 2-step appm::rch}ht\

(a) 32 x20 (b) 52 x 30 (c) 30 x40 (d) 123 x 30

(€) 40 x25 (f) 5O x 304 (g) 70«80 (h) 90 x 321
2. Calculate each of the following (not necessarily mentally) :-

(a) 234 x 30 [Find 10 x 234 first = 2340 and then find 2340 x 3]

(b) 137 x 50 (c) 705 x 60 (d) 453 x 40 (e) 876 x 20
3. Calculate each of the following :-

(a) 167 x 200 [Find 167 x 100 first = 16 700 and then find 16 700 x 2]

(b) 152 x 400 (c) 405 x 50O (d) 517 « 600 (e) 420 x 50O

(F) B79x300  (g) 987 x 200 (h) 222800 (i) 510x700
Exercise 9 '"E
1.  Round to the nearest 10 :- x

(a) 58 (b) 43 (c) 85 (d) 128

(e) 362 (f) 480 (g) 3765 (h) 1996
2. Round to the nearest 100 :-

(a) 471 (b) 849 (c) 139 (d) 3445

(€) 9819 (f) 6066 () 11870 (h) 9951
3. A room has a perimeter of 7465 centimetres.

Round this figure to the nearest :-

(o) 10 (b) 100
4, Sanjit has £1996 in his bank.

Round this figure to the nearest :-
(a) £10 (b) £100.

B. A spaceship orbits a planet and

travels 99 909 kilometres.
Round this figure to the nearest :-
(a) 10 km (b) 100 km.



Answers

Chapter 1 Exercizse 3

1.a 690 b 1074

e 187 f 772

i 5758 i Soo0e
2.oa (i) T35 (i) 1695
Chapter 1 Exercize 4
1.a 450 b 22

e 1230 f 8020
2.a 4100 b 9300

e 50100 f 30000
J.a 2300 b 33000

e 2000 f 100000
4.a 400 ml b 3000 ml
5.a 50 mm b 400 mm
Chapter 1 Exercize 3
1.a 33 b 56

e BOD f 330
Z.a 2 b 16

e 100 f 201
J.a R0 b 2035

e 87 f 1000
4.3 Sm b 800 m
5.a 7 b 400
Chapter 1 Exercize 4
1.a 81 b 136

g RI4 f 1841
2.a 210 b 4635

e 36354 f 2664
J.a 480 b 168
4.a 1124 b 22
Chapter 1 Exercize 7
l.a @ b 147
2.a 16 b 189

g 444 f 373
J.a 31 b 55
4.a B2 b 363

Faomp fome £ fomp faomg fome 6 o ome fome £ oo/

oS om R

131
10001
1967
E9020

Ta0
12000
23100
202000
4040
10100

1010 mm

70
1000
g0
3000
220
10
50 m

426
1468
344
83079
(1 8o

55
206
2051
1 137
349

=P =l = Y = g = P = = B =l = = gl = PR = gy = LERL S = o =7

FoF o

111
TOR
BE31
£1355

200

10 300
10000
500000
GG 000
200000

10030 mm

300
14 0350
240
50000
110

1
100 m

275
2142
5446
17776

() 21735

d
d
h

Gle
52
B42

iy 320

d

1743



Decimals

Exercize 5

1. Write down the answers to the following :-
(o) 84 x10 (&) 98x10 (e) 762x10 (d)
(e) 6-41 x 100 (f) 091 x 100 (g) 4021 x 100 (h)
(i) 5213 = 1000 (j) 08765 x 1000 (k) 10041 x1000 (1)

2. A crate weighs 47-62 kg. What would be the weight of -
{a) 10 crates (b) 100 crates (c) 1000 crates (d)

3. There are 1000 millilitres in a litre. How many millilitres are there in :-
(a) B litres (b) 7-62litres () 0-0415 litres (d)

1871 x 10
0-0054 x 100
42 x 1000

10000 crates ?

001 litres ?



Decimals

Exercize &

1. Write down the answers To the following :-

(a) 286 = 10 (b) 19:8:10 (c) 76210 (d 1871-:10
(e) 64-1 - 100 (f) 10-01 = 100 (@) 42 =100 (h) 054 - 100
(i) 521131000  (j) 08 - 1000 (k) 1004 :1000 () ©- 1000

2. The length of 100 pieces of railway track is 412-6 metres long.
{a) What is the length of each piece in metres ?

(b) Change your answer o centimetres. ;f

3

3. There are 1000 squibiis in a martian pound. AP
How many martian pounds in :- Oe
(a) 3497 squibiis (b) 214-6 squibiis i‘“«.‘y »

(c) 21977 squibiis  (d) 1 squibii ? )
ey

Exercize 7

1. Write down the answers to the following :-

{a) 434 (b) 8-27 (c) 878 (dy 119-38
x 4 x 7 x 6 x0
(e) 57 x 8 (f) 423 x4 (g) 1359x5 (hy 7 x 37621

2. Show all your working to the following questions :-
(a) Fred the monkey eats 374 kg of food every day. =
What is the weight of food Fred will eat in :-
(i) 3 days (i) aweek? @
(b) Boris the zookeeper gets paid £7-84 an hour.
How much will Boris earn in :-
(i) 4 hours (ii) 9 hours ? <N

(c) Kevin the Camel eats six 3-71 kg boxes of dates every month. ‘a i
Karen the Camel eats five 4-09 kg boxes. Y

- 1

i .

Who eats the most and by how much ? '71 ﬁE.i
¥ 1
T

10



Decimals

Exercize &

1. Write down the answers To the following :-

(a) 286 = 10 (b) 19:8:10 (c) 76210 (d 1871-:10
(e) 64-1 - 100 (f) 10-01 = 100 (@) 42 =100 (h) 054 - 100
(i) 521131000  (j) 08 - 1000 (k) 1004 :1000 () ©- 1000

2. The length of 100 pieces of railway track is 412-6 metres long.
{a) What is the length of each piece in metres ?

(b) Change your answer o centimetres. ;f

3

3. There are 1000 squibiis in a martian pound. AP
How many martian pounds in :- Oe
(a) 3497 squibiis (b) 214-6 squibiis i‘“«.‘y »

(c) 21977 squibiis  (d) 1 squibii ? )
ey

Exercize 7

1. Write down the answers to the following :-

{a) 434 (b) 8-27 (c) 878 (dy 119-38
x 4 x 7 x 6 x0
(e) 57 x 8 (f) 423 x4 (g) 1359x5 (hy 7 x 37621

2. Show all your working to the following questions :-
(a) Fred the monkey eats 374 kg of food every day. =
What is the weight of food Fred will eat in :-
(i) 3 days (i) aweek? @
(b) Boris the zookeeper gets paid £7-84 an hour.
How much will Boris earn in :-
(i) 4 hours (ii) 9 hours ? <N

(c) Kevin the Camel eats six 3-71 kg boxes of dates every month. ‘a i
Karen the Camel eats five 4-09 kg boxes. Y

- 1

i .

Who eats the most and by how much ? '71 ﬁE.i
¥ 1
T

11



Decimals

Exercize 8

1. Copy and complete the following :-

(@) 2[3716 (b) & [o1-44 (€)  7[4170 (@  gl1z012
2. Find :- (@) 357-7 (b) 5706+ 6 () 0072:8
3. Show all your working for the following questions :-

(2) Mine bricks have a total length of 2-61 metres long.
What is the length of 1 brick ?

(b) Three kegs of beer hold 30716 litres.
How much beer does one keg hold ?

(c) Find:- () athirdof 208 (ii) aninth of 5166
(iii) asixthof 606 (iv) afifthof 07

4. Two shops sell identical shirts.
Shop A sells three shirts for £8:79.
Shop B sells five shirts for £14-75.

Which shop has the best deal 7 Explain.

Exercize 9
You may use a calculator for this exercise but show all working.

1. Shreek the ogre has eight worm lollies each 7-8 cm in length.
What is the total length of all the lollies ?

2. Ben hasa b litre jug.
0-32 litres, 1056 litres and 1-9 litres poured into it. s ﬁ
How much more will the jug hold ?

Senji buys six comics at £2-49 each.
How much change will he get from a £20 note ?

4. Marilyn buys eight concert tickets for £182.

How much was it for each ticket ?




Decimals

Revizion Exercize

1.

What does the zero stand for in each number :-
(o) 507 (b) 111-901 (c) 09815 (d) B-1904

Which numbers are the arrows pointing fo :-

@ ipronpeeepne oo © o
1

Round To one decimal place :-

(a) 0-849 (b) 57911 (c) 99501 (d) 10-6

Do the following mentally and write down the answer :-
(o) 21772 - 548 (b) &6-467 (e) 263 x5 (d) 5964 7
(e) 061 x10 (f) 7-821 x 100 (g) 1000 x 03247 (h) 432 x 200

A B metre length of cable is cut info 3 strips.

The first strip was 3-42 m.
The second strip was 075 m.

How long was the third strip.

Use a calculator and then round to one decimal place.
{a) A barrel holds 140-6 litres of water. How much would 17 barrels hold ?
(b) Thirteen railway cars have total length 164-2 metres. What is the length of one

(c) A field with area 1875 metres is fenced info four equal section.
What is the area of each section ?

(d) Twenty sweets cost £1. How much for fifty sweets ?

13



Answers

Chapter 2 Exercise 5

1.

3.

[CUR O UL | (I ]

84 b 98
641 |91
5213 j 8763
4762 kp

47620 k2

5000 b 7620

Chapter 2 Exercise 6

1.

a1

3.

LU UL L | I 1]

2-86 b 1-98
0-641 f 0-1021
0-5213 j 0-0003
4-126 my

3-407 b 0-2144

Chapter 2 Exercise 7

1.

a
B

£

i)
C

17-36 b 37-89
45-6 f 1e%-2
iy 11-22 ks

iy £31-36

Fevin by 1-81 Eg

Chapter 2 Exercise 8

1.a 18-38 b 15-24

2.a 5-1 B 251

3.3 029 m b 10242 1
c (i) &6 (i) 374

4. shop A each shint 2p cheaper

Chapter 2  Exercise 9

1.624 cm 217241

5.£400

1.

a1

a
=

|

7-7 b 2-02

L =T =l ol I

AT m A

[
E

[
[

76-2
402-1
1004-1
4762 kg
476 200 kg
41-5

0-762
0-042
0-00 1004
412-6 cm
21-977

52-68
678-5

() 2618 ke
(i) £70-56

5-87
0-009

(i) 101

3.
4. 5 kg box — Sp'ks cheaper
Chapter 2 Revision Exercise

tenths b humdredihs
wheole d thousands

£5-06

d 187-1
h 0-34
1 4200

d 18-71
h 0-0054
1 ©-008

d 0-001

d 1074-42
h 262-647

d 16-14

(iv) 0-14

4. E22-TS

14



Integers

3. Copy and find :-
(o) 6+7 (b) 8-13 (c) 1+(-B) d (-H+1
(e) (-3)-4 (f) (6)+1 (@ 4)+4 (hy (-8)-8
(0 9+(9) @ B)-7 (k) (-B)+4 (h (-81)+8l

Exercize 4 i

1.  The coordinates of A are (-3 4). A(-3.4)
Write the coordinates of the other points.

£2. (a) Copy the set of axes from question 1.

2o J"-t?-'l
.gﬁ.‘
o

(b) Flot the following six points :-
72, 3), K(-1,5), L(-4, 3), G .
M(-4, -1) and N(2, -1) 33 2-10 1 2 3 45

(c) MName the shape formed when the -1
six points are joined up in order. -2

Y
5
4 ¥
3
2
1

3. (a) Drow asetof axes from -5 to 5 on both axes. 1 E
(b) Plot the points 5(3, 2), T(b, 2) and L(6, B). -4
(c) Join the three points and write the name of the shope formed.

(d) Reflect this shope over the x-axis.
(e) Worite the coordinates of the vertices of the new shape found.

Revizion Exerci=e

1.  Write the temperature shown by each thermometer.

(GJCH-H-H-HIIUIIllllllllljib]@H-ﬂ—HlllllllllIIIIIIIII"J
10°¢ 20°C

-10°C -5°C o 3 -20°C -10°C o 10°C

2. Yesterday the temperature was 5°C.
Last night the temperature dropped by 12°C. What was the new temperature ?

3. Find (a) 7+(:3) () (B)+2 () (3)+(B) @ (N-2 (e) (-15)-5

4. (a) Drow asetof axes from -5 to b on both axes.
(b) Plot the points A(3, 1), B{-3, 1) and C(-3.-3).
(c) Plot and write the coordinate of a 4th point (call it D), such that ABCD is a rectangle.
(d) Reflect the rectangle over the y axis and write down the coordinates of its vertices.



Answers

3.a 13 b -5 c -4 d 10
e -7 f -5 g 0 h -40
1 -18 ] -12 k -1 1 0

Chapter 5 Exercise 4
1.B(24) C{4,-3) Ix-3,-3) E(3,-1) FO-4) G-2,0)

2.a/b see diagram ¢ pentagon
3.ab see diagram ¢ ftriangle
d see diagram e S57(3.-2) T(5-2) U(6,-3)
Chapter 5 Revision Exercise
l.a -3°C b -12°C
2.-1°C
3.a 4 b 4 c -8 d -9
e -20
4. ab see diagram c D{3.-3)

d A'(-3-1) B'21) C(2,-3) D'(-3.-3)

16



Algebra

Exercise 1

1.

Copy and simplify -
(a) Bx+4x

(d) 12p-p

(g) c+c+c

(j) 83d+22d-91d

Copy and simplify -
(a) 1Bx+ 14x - 27 x
(d) 2o+-+-+-+

(g) h+13h+12h-23h
(j) Bled+ 29e® - 793

Exercise 4

L

Copy each equation and solve :-

(a) x+4=7
(d) p-4=¢
(g) e-12=16
(j) 8+x=7

Copy and simplify :-
(a) 2a=10

(d) 12p =0

(g) 11z=121

(j) 10k= 3000

Exercise o

1.

(b) 3y -2y

(e) Bx+ 3x+4x
(h) 8k=+Bk- 10k
(k) 20z-17=z+ =

(b) 7Ty-y=+8y

() w+llv+ dw—w
(h) 7w+ 6u- 12w
(k) z-B=z+7=

(b) y+2=12
(e) 5-x=13
(h) 14-g=0
(k) z-3=-1
(b) 3y =15
(e) Bx =75

(h) 8k=864

(k) 20z = 6000

Find the value of each variable by solving the equations -

(a) 2x+4=16
(d) 8p-1=23
(g) 7Te-12=9
(i) 8+4x=0

(b)
(€)
(h)
(k)

3y +1=13
2x-T=13
14-bg=4
12z-3=57

(c) h+h

(f) 9w+ Bw+ w
(i) 1Bg+9g-19g
(I 31h-2bh-6h

(c) 127+ Fi- 14
(f) 202+ B2 - 2
(i) 5g%+ 9 - 4g7
(I} 31lx- 35— 6x

(c) T+y =8
(f) 9-w=06
(i) 16+e=17
(I 31+a=-10
(c) 9h =81
(f) 19w=76
(i) 1bg =300
(1) 6h=27

(c] By +4=9

(f} 9+2w=15

(i) 1B-4e=-

() 31-2a=-2

17



Algebra

Revision Exercise
1. Simplify :-

(a) Bx+ 4x

(d) 8d-7d

(b) 6y-2y
(e) w+3w-2w

2. Write the unknown number :-

() @ x3 >

6 >—() ©

() @— x6 >

+1>—@ (d)

3. If =2, t=3, u=4 and v=5 find:-

{a) 3s+2t+u-2v
4. 5Solve :-

(a) x+6=8

(d) Bh-7=43

(b) stu- By

(b) y-7=9
1 _
(€) Sk=16

(c) 5k+2k- 4k
(f) 4h2 +5h2 - 3h2

2>

5 >—(7)

=3 >—

®_

>—3)

(c) vZ+uZ-(st)

(c) 2x+1=11

1
f 1=-3
(f) E‘.H

18



Answers

Chapter § Exercise 1

l.a 12x by ¢ 10A d 1lp
e 12x f 1w 2 3c h 3k
i 5g i l4d k 4z 1

2.a 5x b ldy ¢ 5i d 23f
e lov f 9451 g 3h h wu
i 10g2 j e3 k 3z 1 -10x

Chapter § Exercise 4

l.a x=3 b y=10 c y=1
d p=10 e x=12 f w=3
g ¢c=28 h g=14 1 e=2
] x=-1 k z=2 1 a=-1

2.a a=3 b v=5 c h=9
d p=0 e xr=15 f w=4
g z=11 h k=108 1 g=20
i k=300 k z=1300 1 h=43
Chapter § Exercise 5
l.a x=6 b y=4 c y=1
d p=3 e x=10 f w=3
g ¢c=3 h g=2 1 e=2
1 x=-2 k z=5 1 a=5

Chapter 8 Revision Exercise

l.a 12x b 4y ¢ 3k dd
e 2w f 6h2

2:a 21 b -1 ¢S d 12

3.2 6 b -1 ("

4.2 x=2 b y=16 e x=5 d =10
e k=32 f y=10



Fractions/Percentages

Revizion Exercize

[

. For gach shape, saoy what fraction hos been chaded --

(a) % b) %E )

Fi

(@) = )
12

(=] = (f)
. Find :-

l f &b )

() 3 (b)

(a) BO% )
{c] 20% ()

7
al — i
(a) o b)
24
(=) 0 {f}
. Colculate (-

{a) 20% of £7E

. Simplify sach of the following froctions :-

3

= (]

&

2 (5]

: f 48 iic)
— o C
4

. Write these os froctions in their simplest form :-

2B% i)
i

ek ig)

. Charmge thess fractions inte percontoges -

= (=]

— (5]

g
— of 2F
9

64%
3311-15

| =

220
10040

{b) 66% of §840

(d)
1
(d) T
27
™ T
6 - of 616
(d} _
(d) TE%
(k] 126%
17
(d) T
3
(k) .

{c) 121% of BOA kg

3
Eris hod £120, {— of his original heliday money]. How much did Kris start with ?
B

20



Answers

Chapter & Revision Exercize

3 2 4 .2
., 1 1 1
£ . d = b ) i 3
2 F oL 1
® 13 13 E 75
a 22 b 36 e 24
1 1 1
4. a 7 b ry s 5E
1 § oz 1
5 ] E 3
5.3 TO% b 40% c 33%%
e 60% f 66% : 223%
6.a £15 b $36 e 101 ks

[ T = PR = Y =

= PR =

21



Angles

Exercize 3

. Copy and complste :-  Angles round a point will always odd up to =

2. Calculate the unknown angles :-
35, |9
&E"
O W\ﬂf’ﬁ? -
1&0°
f
e)

12

3. How many degress in :- (2] @ kalf turs b} aquarter turn
() oncighth tuen  [d} o fwelth turn ?

4. Write the supplemsnt of - (2] &0° b} 1607 (c] 137
(d) 1747 (e} I (F) 33ie

Exercize 4
l. Copyard complets - The angles m a triangle will clways add wp fo 5

2. Calculots the argle marksd ™ in each of these triongles :-

(=) ®) (<} (d)

3r

o 68"

(k)
f)

E&l-

22



Angles

3. Naks a real rougs dkeich of each of the follawng dagramd.
Fillin rh-:i::l af all the midsing anglei.

f & \ )
"\ [ J

i
£ =
(el 4.' % {1 gl — (]
A =
:Il:l:l*II lIIl. T =
K
lI-".
+h
A. Mame ol writhe down the sises of all the angles doh
in the dugram I’I I'I'.'II
{
ot ix
|}
r 3 B
Exercise B

L Copy and complete (- Correipending [Flengles are €.
2. Copy the disgrami and dhaa all the corresponding [F)engles (-

N

3. Wrike down all the angled in the followng degramd = [eg4 ZABC = B57)
I

1 (k] el /
B : o P )
a5 € /
L5
A . P E b



Angles

4. Skotch sach of the following ond fill m all the missing angles --
—
(=) (

o) Al

e b) Ao K
A
N F

Exercize &

l. Copy and complete - Alrerrate [Z) anglss are &.......

2. Copy the diagrams and shew all the alterrate [Z) argles =

) -/ " \/\\ i /

3. Writc down all the angles m the following diagrams - [eg. ZABES = 699

W

@ 4 B, (€)
e
b X
69" T
s . K 133°
W T
5

4. Sketch soch of the followirg and fill in all the missing angles =-

(e) N b) (c)
'y = 15‘1’/

-
9= /
- / H




Angles

Revizion Exercize

1. Write the type and name of cach argls showr -
(e.g. ooute JABC = &97)

2. HMome all the acuts ongles -
in this dizgram. — E N

3. Make a ncat rough sketch of cach of the fellowing diegroms.
Fill im all the missirg angles.

(f) (g) 2= (R}

fa) A ®E (<) z (4)
3 )
. \_
3o " L H 1.7g=

(e} (k) (<) ()
I =
1367
&
#

4. Sketch coch of the fellewing and fill im 2ll the missing ongles -

(=) (&)

/T
/O
/ =

25



Angles

Chapter 17 Exzercise 3

1. 360°
a6 b 145
e 10° f 35
Ja 180° b8
4.2 120° b 3¢
e 179° f l465°

Chapter 12 Esercise 4
1.180°

la gy b 25
Jja

4.2 /KGB :GBE (BEG
B T 40°

L L s ]

L

45

d 3

b 125

d 3¢

(.1

1. cqual
2 a toc sec dizprams
J.a (BDE=85 :DBC=05
b fECR=65" <PCR=115"
¢ (PGH=11¥ <HGF=065
LGDB =65 LFGD =115
LPGD =65
4.2
c

Chapter 12 Exercise &
1. cqual
2 see diaprams
3.2 GAB=68°
b LPDE=5F sDEW=30)F
¢ LUTW=47" XWT=47
LVWT =133°

rEd =3

Chapter 12 Revision Exzercise

1.2 acute SACE =3 b rght <PLH=2"
¢ miex AZBY =347 d cbmse JFRQ = 1287
2. :BCE, +CBE, £BEA, ABAE, ~EBA, ~CED, AECD,

3.2 131° b 48° c 150°
d 37, 126°, 126° - ™
f 50° 350¢° & 127, 5%
b 40°, 407

4.a
155,
(. o

b

|JLP£\4}\ T

SRS e (B AP
S A, 140F
/ 130e J40F ™ 40P

26



Coordinates

m Coordinates in 4 qhndrnnts

¥
1. Write down the coordinates of :- L A
g
a each point shown in the diagram. A(-3. 4) B
4 ¥
the point on the y axis. -
3 \.I—h
¢ all the points with the of "—’—{
< : 2 -
same x coordinate. I o
d all the points with the s
same y coordinate. *
4 3 2 10 2 3
¢ the point with the same -1 =
xand y coordinates. 2
f the fourth vertex, P of the b 3
rectangle DABP.
4
2. a Copy the same axes grid from question 1.
Plot the points P(2. 3). @Q(4.0). R(2.-3). 5(-2.-3). T(-4.0).
¢ Plot the point U, where PQRSTU are the vertices of a hexagon.
3. Look at the diagram shown. Y
a Write down the coordinates o 3
of R, Sand T. ¥ 4
b Reflect RST over the x-axis 3
and write down the coordinates 5
of R'S'T.
1
¢ Reflect R'S'T over the y-axis T
and write down the coordinates 4 3 2 10 > 3
of R'S"T". -1
-2
4. The vertices of a triangle reflected 3
over the y-axis and then the x-axis
are A(1, 5), B*(7. 0) and C"(2. 2). 4
State the coordinates of the

original triangle ABC.




Coordinates

Revisit - Review - Revise Exercise 5

Y&

1. Write down all the coordinates :- 5

shown on the diagram. 4

b that lie on either axes. 3

¢ that have the same x and P 2
y coordinate. : L
2. PJISM are the vertices of 4 3 1 0 2
a parallelogram. -1 G

State the coordinates of vertex S. -2

N 3

il -

3. a Copy the axes above. »

b Plot the points R(1, 3). 5(-4. 2).
T(-3.-2) and U(2. -4).

Draw a vertical line which cuts through (2.0).

d Reflect RSTU over the dotted line.




Answers

Exercise 1 - Coordinates in 4 (Juadrants

1. a A(-3.4) B(2.4), C(4.-3). D{-3.-3).
E(3.-1). F(0.-4), &-2.0)

b F c A&GD d A4&B,L D&C
e D f P{-2.-3)
2. a/b 5See diagram e W-2.3)

3. a R(-1.4), 5(4.3). T(2.1)

b see disgram - R'(-1.-4), 5'(4.-3). T(2.-1)

¢ see diagram - R°(1.-4), 5"(-4.-3), T(-2 -1)
4. A(-1-5), B(-7.0), C[-2.-2)

Review - Rewvisit - Revise Exercise B

1 a I{4.3). J(2.1). K(2.-1). L(5.-2).
M(3.-3). N(-3.-3). P(-3.2). Q(0.4)
b Q04) ¢ MN{-3-3)
2. a 5(2-4)
3. a/bfc See diogram
d R'{3.3). 5'(B.2). T(7.-2). U(2.-4)



sSymmetry

Revizion Exercize

Write down how many lines of symmetry are in each of these shapes :-

A

Z. Copy coch of theo following shopss noathy, and complete
amch one ook that e dothed o= s a line of cysrwnetry.

) L 0=l 1=, Rl
A e, N
: ] » = §
: =l - =
= —r= ¥ ™
3. Which,_  if amy. of theass shopess hoses holf-foeen apem s ra

e

) * - a

4. (o) Fnrl:-na:h::l"h:p-ﬁir.qu::rrim-E_suymkhd-ﬁnfmamﬂ-yi'er.{é_ E.-E-'I‘E:I.
2
(b} Stoto the ordoer of coch sheypes o quessstion 3

B. Copy coch shaps ard gins coch a hadf turs areuand s dot.
(a} L (=}

6. (o) Mokc o copy of tho Tils showr.

)] Drow teoclhve congrosnt tiles toe "riles the plans ™.

7. Which of the following tiles will ot cowar the planes.

067G O -



Answers

Chapter 7 Revision Exercise
.a 1 b O |
. check diagrams

.ab ko

4o lad ba b

d LA
i
(=
[}
®
=

I



Area

Exercise 4

1. Copy and complete :-

The fermula for calculating the area of a rectangle is A= .x ..

2. Use your formula to calculate the areas of each of the following :-

(a) (b)

10 em

10 cm

14 cm

3cm

3. Awall is fo be painted. A litre of paint will
cover 3m® and costs £4-50 per litre.

(o) Caolculate the area of the doorway.

(b) Calculate the area of the wall to be painted.

(c) How much will it cost to paint the wall ?

Exercise 5

()

10m @

B —— - -
| I ——— — -

L T T T T T T T T T T T T 71

Calculate the shaded area of each of the following shapes :-

(Show all your working).
1. 4 cm 2.

5
“n 3 em

1ecm

12 em

=

Icm

23 cm

1em

& cm

1 cm



Area

12 cm & cm
3 4. 1
9 om 2 em
05 e 7 cm
| 1cm T 4cm
21 em
Exercise 6
Find the area of each of the triangles :-
L. 2. =
& cm 2 m
10 em
3 4 20m
5 e Tm
12 cm
5. Calculate the total area of &. A triangular garden is to be turfed has a rectangular
the composite shape shown:- a rectangular flower bed (area 16m? ).

Find the (shoded) area of the garden to be turfed.

14 m



Area

Chapter 10 Exercise 4
1. A = length x breadth

T.a 30om: b 140 cm?
d Bl m?
3.2 ?2m? b 1% m?

Chapter 10 Eszxercise 5

1.23 cm? 2. 0com?
4. 196 cm?

Chapter 10 Exercise &

1.30 cm? z
4.70 m* 5. 01l m?

¢ 53im?

¢ £2I-50

i

i

. 38 em2

. 30 em2

26 m?



Statistics

Exercize 1

1. Find the mean and range of -
(a) 2.3.6.5.2.9,and 8 (b) 41.37.53, and 45
(c) 13,12, 12,15, 14 and 15 (d) 31. 25, 38, 34and 35.

2. In the first six months of the church lottery, 5
£6360 in prizemoney was paid out.

How much on average was paid each month ?

i

3. Josh is a computer games whizkid.
He completed each level of DEATHEAME in the following times (in minutes) --

86, 95 88 79 101 8% 81 83 and 9.

What was his mean time per level ?

4. Inthe first four weeks of selling ice-cream,
Tony had made a profit of £876.

(a) How much was the average profit each week ?
(b) How much was the average profit per day ?

5. In their last five home games the following scores were recorded at Hawick rugby club :-
13 -10, 12 -3, 0-25, £1 - 13, 7-5
(In all home games Hawick scores come first).
(a) Find the range of the (i) home scores, (i) oway scores.
(b) Find the average peoints Hawick scored.
(¢) Find the average points of the away teams.

(d) Why do you think the away feams average is higher ?

&. The mean weight of 3 boys is 37 kg

Andy weighs 36 kg, Bill weighs 34 kg. Calculate the weight of Colin.



Statistics

Exercise 2
1. The ages of the people at a disco were recorded :- Age | tally |7 o
17 18 18 1 20 21 21 20 116 17 18 16 |
12 20 20 21 19 20 21 18 18 19 18 17 I -
18 - -
(a) Organise the data inte a frequency table using tally marks. 19
(b) How many pupils were older than 19 years old. - cad™
(c) What was the most common age at the disco ?
p
2. The time taken for each music track at the disco were as fellows (in minutes) :- ;\i; =
1 8 12 13 ¥ n 12 13 12 10 10 ff_{
g 10 10 11 9 W0 1 8 B 9 a8 A ,;{';'x“ \l\
Organise the data info a frequency table. ,(_’:r:-'-' L.H 5
3. The disco recorded the number of crates sold :-
Crates water beer alcho-pop orange
number 20 12 6 9

Draw and label a neat horizontal bar graph to represent the infermation in the table.

4. Concert in the park ticket prices are shown in the fables below :-

noon 3 pm b pm
fone 1
Zone 2
Zone 1 Zone 2
Saturday £4 £8  fli2 £6 £10
Sunday £5 £9 £16 £8 f£12 £2b

How much would it cost for a ticket on -

(a) Saturday 3 pm Zone 1 (b) Sunday 4 pm Zone 2 (¢) Sunday 7 pm Zone 2
Henry paid for an £18 ticket.

(d) Inwaht zene and when can Henry attend the concert ?

(e) What zone, day and times are the best bands on stage ? (Give a reason for your answer).



Statistics

Exercize 3

1. The line graph show the sales of

Tony's ice-cream one week in July.

(a) How many ice-cream’s did Tony sell on 32 /

(i} Monday (i) Friday

[
L | K
(iii) Saturday (iv) Sunday ? 2 " \ f/
(b) Tony was ill one day and could not § I', JI,"r
drive his van to work. 20 Inl 7
What day was Tony ill ? ‘> I
(c) What day do you think was the Mor Tue Wes T:: Fri- Sof Sun
hottest day ? Explain. . a¥

(d) What were the total number of ice-creams sold that week.

(e) What was the mean number of ice-creams sold per day over the seven days ?

2. The comparative line graph shows the 50T
sales of calculators from two different /\

companies CALC-R-US and CALCUMEED. ¥ ; Y ‘I,. .\
! LB [ i
(a) How mamy calculators did ; i S

CALCUMNEED sell in -

(i) August
(i) September

(iii) Jamnuary ?

(b) One company had a big advertising 0

campaign between September and Aug  Sept  Oct Mov  Dec  Jan

October. Month
Which company ? Explain.

(c) Calculate the mean sales of each company per month.

(d) Which company do you think had better sales ? Explain.

3. Three companies computer sales are as shown. Jan Feb Mar dpr

Draw a comparative line graph
showing the sales information JOK 100 200 300 200

of the three companies. IPS 300 250 150 200
HE 380 S00 400 ZE0

May

200
400
300

J R

400
450




Statistics

Exercise 4

1. The pie chart shows the results of
school tuck shop juice sold.

(o) What percentage does each
section represent ?

(b) What percent of the sales were:-
(i) Lemon

(i) Water

(iii) Cola and orange

2. This pie chart shows this years senior school disco attendance.

pupils at
school

disco

(o) What percentage of the pupils were
(i} 4thyear (ii) Sthyear (iii) &thyear ?

(b) If 480 pupils attended the disco, write
the attendance of each year group.

(c) Lastyear, of the 480 in attendance half were sixth year,
an eighth were fourth year and the rest were fifth year.

Copy or trace the outline of this pie chart.

Show last years disce attendance.

You need a pretractor for question 3.

3. At local cup final, a crowd 720 people attended.
180 supported Rovers, 270 supported United and
the rest of the spectators were there just fo see a
good game |
Draw a pie chart to show this information.

(hint : remember there are 360° in a pie chart).




Answers

Chapter # Exercize 1

Lo ba e

6

Chapter @ E=xercise 4

1.a 10%
b (i) 20% (i) 40% (i) 405
2.a (i) I5% (i} 0% (iii) 35%
b 4th year — 1200 5th year — 192 fGith year — 168
¢ ses diagram
3. see diapram
Fovers— 50%  Umited — 30%  Rest— 20%

.a 5N b 44 (1) c 14 () d 33 (1-4)
.£1060 3_8-8

.£218

.a (i 21 iy 20 b 11 c 12

d Hawick lost 25 pts in one game

.41 kg

Chapter # Exercise 2

1

a1

3
4

.32 Time Tally Feg

15 |
17 m
18 i |
19 m
00
21

b 9 c 18
Time Tally Freq

[ ] I

B i
] Il
10 -t
11 i
12 i
13 Il

ot

Foun e o ba

L o

. see diagram
.a £4 b £12 c E£25
d Samrday Zone 1 from § pm
e Sunday from 5 pm (Zome 2 hizghest price)

Chapter # Exercise 3

1.

a (i) 28 (i) 26 (uiy 2% (iv) 27
b Thursday ¢ Wednesday (sold most ice creams)
d 173 e 15
L& (iy 200 (iiy 150 (iid) 300
b CALCUMNEELD (large zales increase)
c CALCUNEED 323 CALC-E-US 330
d CALC-E-US (hizher mean sales)
. see diagram



